



OFFICE OF THE CITY MANAGER



TO: Honorable Mayor and Members of the City Council

FROM: Patrick Urich, City Manager *Patrick Urich*

DATE: December 5, 2014

SUBJECT: Issues Update

The following are issues related to the City for the weekly Issues Update. If there are additional items you believe should be included, please let me know.

Community Housing and Development Organization Certification and Funding

The City, through its Community Development Department, has released the Certification Form for organizations to be designated as a Community Housing and Development Organization (CHDO) and to have access to available funding. A CHDO is a private, nonprofit, community-based service organization that has paid staff and the capacity to develop affordable housing for the Peoria community. A CHDO must meet certain requirements pertaining to its 1) legal status, 2) organizational structure and 3) capacity and experience.

The City must use 15 percent of its total HOME Investment Partnership Grant allocation for CHDO activities. Based on the City's HUD 2014 budget, approved by Council on October 28, 2014, \$300,000 is set aside for CHDO activities.

Certification Forms for those interested in becoming a CHDO and for an existing CHDO to recertify its status are available until Tuesday, December 23, 2014. Copies can be obtained from the Community Development Department or by contacting Nicole Frederick, Senior Grants Coordinator, at (309) 494-8606 or nfrederick@peoriagov.org.

Emergency Communications Center Report: November 2014

Attached is the ECC report for the month of November.

Zoning Board of Appeals Agenda

The Zoning Board of Appeals (ZBA) agenda for December 11th is attached.

Site Plan Review Board Agenda

The Site Plan Review Board (SPRB) agenda from December 1st is attached. Any questions related to the listed projects should be directed to the Planner assigned to the case.

Housing Court Cases

The list of housing court cases scheduled for December 9th is attached.

Issues Update
December 5, 2014

Code Violation Cases

The list of Code violation cases scheduled for December 9th is attached.

**Emergency
Communications
Center**



**Monthly Report
November 2014**

**Peoria
9-1-1**

CITY OF PEORIA
EMERGENCY COMMUNICATIONS CENTER 2014 ANNUAL REPORT

	JAN	FEB	MAR	APR	MAY	JUN	JUL	AUG	SEP	OCT	NOV	DEC	TOTAL	2013 Totals
Landbased 9-1-1 Calls	2,164	2,280	1,988	2,327	2,420	2,425	2,615	1,995	2,881	2,209	2,072		25,376	29,991
Wireless 9-1-1 Calls	5,742	5,389	6,170	6,209	6,910	7,022	7,089	7,580	5,742	6,363	5,942		70,158	74,753
TOTAL 9-1-1 CALLS	7,906	7,669	8,158	8,536	9,330	9,447	9,704	9,575	8,623	8,572	8,014	0	95,534	104,744
Peoria Police Incoming Calls	7,192	6,862	7,601	7,931	8,430	8,248	8,801	8,537	8,134	7,927	6,429		86,092	92,820
Sheriff's Police Incoming Calls	2,772	2,570	2,799	2,534	2,757	2,877	3,056	3,109	2,765	2,873	2,393		30,505	35,064
TOTAL POLICE INCOMING CALLS	9,964	9,432	10,400	10,465	11,187	11,125	11,857	11,646	10,899	10,800	8,822	0	116,597	127,884
Volunteer Fire/EMS toll free calls	54	47	45	44	26	20	50	24	35	26	21		392	448
Peoria Fire Incoming Calls	777	723	675	739	849	875	753	864	688	645	605		8,193	9,017
TOTAL FIRE INCOMING CALLS	831	770	720	783	875	895	803	888	723	671	626	0	8,585	9,465
Operator Assist Calls/Alarm Calls	1,035	1,004	834	908	835	937	882	928	871	813	926		9,973	10,052
Ambulance Incoming Calls	197	191	179	225	214	228	231	250	205	199	192		2,311	2,400
ECC Supervisor Incoming Calls	830	857	777	854	787	879	780	850	842	792	761		9,009	11,131
Richwoods Dispatcher Incoming Calls	77	78	70	78	78	87	86	91	77	98	78		898	1,166
Downtown Dispatcher Incoming Calls	76	68	88	71	56	50	70	55	62	38	37		671	729
Prep 2 Dispatcher Incoming Calls	570	603	718	836	823	675	663	761	732	664	621		7,666	8,953
C-MED Dispatcher Incoming Calls	54	52	38	31	4	31	45	35	43	51	32		416	676
County Sheriff Dispatcher Incoming Calls	50	56	52	40	57	47	45	50	32	39	25		493	596
Fire Dispatcher Incoming Calls	104	102	95	82	122	73	74	70	70	98	72		962	1,175
OverFlow Dispatcher Incoming Calls	20	16	6	19	5	11	11	2	5	7	7		109	123
Call Taker Incoming Calls	0	0	3	2	0	1	2	0	1	1	2		12	35
TOTAL INCOMING EXTENSION CALLS	1,781	1,832	1,847	2,013	1,932	1,854	1,776	1,914	1,864	1,788	1,635	0	20,236	24,584
TOTAL OUTGOING EXTENSION CALLS	6,089	5,850	6,030	5,625	5,916	5,714	5,443	5,820	5,168	5,245	5,232		62,132	64,140
Peoria Police Dispatches/On view	7,181	6,880	8,295	9,128	9,545	9,360	9,915	9,483	8,783	8,431	7,157		94,158	99,168
Peoria County Sheriff Dispatches/On view	2,382	2,135	2,181	2,349	2,680	2,528	2,540	2,716	2,371	2,535	2,505		26,922	27,701
TOTAL POLICE DISPATCHES/ON VIEW	9,563	9,015	10,476	11,477	12,225	11,888	12,455	12,199	11,154	10,966	9,662	0	121,080	126,869
Air National Guard Fire Dispatches	5	7	4	11	2	11	5	3	8	1	8		65	67
Akron-Princeville Fire Dispatches	18	18	19	34	16	23	14	21	14	11	22		210	234
Brimfield Fire Dispatches	26	33	33	40	32	33	27	29	26	22	41		342	316
Dunlap Fire Dispatches	36	29	27	36	32	24	25	42	35	23	35		344	364
Elmwood Fire Dispatches	14	15	15	14	9	13	12	9	11	7	9		128	150
Limestone Fire Dispatches	106	86	98	123	120	138	114	136	112	119	100		1,252	1,270
Logan-Trivoli Fire Dispatches	33	41	38	49	37	38	34	32	30	24	46		402	371
Peoria Fire Dispatches	1,652	1,472	1,563	1,534	1,562	1,537	1,609	1,667	1,552	1,523	1,416		17,087	18,315
Timber-Hollis Fire Dispatches	39	36	31	41	24	22	31	24	19	24	22		313	333
Tuscarora Fire Dispatches	2	2	4	5	5	7	3	8	4	1	5		46	34
West Peoria Fire Dispatches	53	27	62	34	38	47	40	58	47	46	41		493	522
MABAS Fire Calls	5	3	7	2	2	4	1	4	2	4	4		38	40
MABAS EMS Calls	0	0	0	0	0	0	0	0	0	0	0		0	0
TOTAL FIRE DISPATCHES	1,989	1,769	1,901	1,923	1,879	1,897	1,915	2,033	1,860	1,805	1,749	0	20,720	21,976
AMT Ambulance Dispatches	1,310	1,154	1,139	1,261	1,352	1,284	1,363	1,427	1,305	1,238	998		13,831	14,778
APA Ambulance Dispatches	10	15	15	18	12	15	11	18	14	8	16		152	189
BYE Ambulance Dispatches	41	45	40	32	33	40	36	43	38	31	43		422	474
TOTAL AMBULANCE DISPATCHES	1,361	1,214	1,194	1,311	1,397	1,339	1,410	1,488	1,357	1,277	1,057	0	14,405	15,441
Peoria County Coroner Incoming Calls	202	210	202	160	203	187	184	182	120	175	182		2,007	2,401
Community Messaging System Call-outs	12	9	39	22	41	18	16	33	16	12	15		233	189
Telephone Trouble Reports Completed	0	0	4	0	0	0	0	0	0	0	0		4	19
ETSB Equipment Trouble Reported	7	5	8	7	5	4	6	10	6	1	6		65	75
Citizen Concerns	1	3	0	2	7	4	6	3	8	4	0		38	20
CD Requests from State's Attorney's Office	2	3	2	9	3	11	4	2	6	7	5		54	72
CD Requests from FOI / Subpoena	6	3	5	4	5	9	5	14	6	8	11		76	41
CD Requests from Inner Departmental	3	7	6	7	8	7	8	7	2	12	6		73	108
Total Number of CD Requests	11	13	13	20	16	27	17	23	14	27	22	0	203	221
ILEAS Call Outs	0	0	0	0	0	0	0	0	4	0	0		4	0
JULIE Dig	65	163	85	65	53	49	62	49	88	58	37		774	617

Yearly Summary

	Number of Calls	Dispatch Response Time	Police Response Time	Total Time	
PEORIA POLICE					
Urgent	32005	1.59	4.02	5.12	
Routine	19217	14.04	9.71	14.85	
Backlog	2171	21.48	6.91	29.60	
PEORIA COUNTY SHERIFF					
Urgent	4315	1.72	7.15	8.86	
Routine	5984	10.21	9.23	19.45	
Backlog	632	32.60	11.63	44.23	
	Number of Calls	Dispatch Response Time	Fire Response Time	Total Time	Average Turnout Time
PEORIA FIRE	16953	0.74	4.35	5.08	1.50

City of Peoria
Emergency Communications Center

Police Department
Urgent Calls for Service
By Police District

	Police District	VALLEY							BLUFF			RICHWOODS							Total Calls	Total Minutes	Calls	Average
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19				
January 2014	Number of Calls	104	138	363	184	42	173	100	119	287	209	228	97	79	214	6	110	142	2595	0		
	Exceptions																					
	Dispatch Response Time	1.3	0.7	0.9	0.8	1.1	0.9	1.0	0.7	0.7	1.0	1.3	1.0	0.9	1.3	3.6	1.2	1.2	2567.5	2595	0.99	
	Police Response Time	2.5	3.8	3.5	3.8	3.7	3.5	4.6	3.9	3.7	4.1	5.4	5.4	5.6	7.7	6.7	5.5	7.6	11927.5	2595	4.60	
	Total time	3.8	4.5	4.4	4.6	4.8	4.4	5.6	4.6	4.4	5.1	6.7	6.4	6.5	9.0	10.3	6.7	8.8	14495.0	2595	5.59	
February 2014	Number of Calls	104	82	298	174	54	175	73	110	244	166	182	110	71	194	8	118	114	2277	0		
	Exceptions																					
	Dispatch Response Time	0.6	0.6	1.6	1.0	1.1	0.9	1.5	0.8	1.0	1.3	1.2	1.0	0.9	1.2	0.6	0.9	1.3	2520.9	2277	1.11	
	Police Response Time	2.6	4.1	3.8	3.5	3.5	3.3	6.1	3.7	3.5	6.0	4.6	4.9	5.5	7.1	10.0	4.7	7.2	10416.3	2277	4.57	
	Total time	3.2	4.7	5.4	4.5	4.6	4.2	7.6	4.5	4.5	7.3	5.8	5.9	6.4	8.3	10.6	5.6	8.5	12937.2	2277	5.68	
March 2014	Number of Calls	122	116	414	201	49	232	98	137	325	232	242	97	81	177	4	111	113	2751	0		
	Exceptions																					
	Dispatch Response Time	0.6	0.7	1.1	1.1	0.6	0.9	1.7	0.9	0.8	1.1	1.2	0.9	1.3	1.1	5.3	1.3	1.2	2853.0	2751	1.04	
	Police Response Time	2.4	3.5	3.1	3.1	2.4	3.4	4.1	3.6	3.2	3.4	5.0	4.6	5.3	6.7	10.5	5.6	6.6	10916.3	2751	3.97	
	Total time	3.0	4.2	4.2	4.2	3.0	4.3	5.8	4.5	4.0	4.5	6.2	5.5	6.6	7.8	15.8	6.9	7.8	13769.3	2751	5.01	
April 2014	Number of Calls	81	115	499	219	60	266	111	151	367	286	236	113	76	240	4	112	103	3039	0		
	Exceptions																					
	Dispatch Response Time	0.7	1.0	1.0	0.9	0.9	1.0	1.3	1.0	1.3	1.0	1.0	0.8	1.4	1.0	6.7	1.3	1.3	3225.3	3039	1.06	
	Police Response Time	2.6	3.7	3.0	2.9	3.6	3.3	4.0	3.8	3.1	3.3	4.5	4.0	6.6	6.8	9.5	4.6	6.5	11831.6	3039	3.89	
	Total time	3.3	4.7	4.0	3.8	4.5	4.3	5.3	4.8	4.4	4.3	5.5	4.8	8.0	7.8	16.2	5.9	7.8	15056.9	3039	4.95	
May 2014	Number of Calls	139	141	560	267	56	291	112	155	388	308	204	90	70	192	4	114	130	3221	0		
	Exceptions																					
	Dispatch Response Time	1.3	1.2	1.2	1.3	0.8	1.1	0.9	1.0	1.6	1.4	1.7	0.9	0.5	1.0	0.7	1.6	0.8	3985.7	3221	1.24	
	Police Response Time	2.8	3.5	3.0	2.8	3.7	3.2	4.2	3.6	3.2	3.6	4.4	4.2	5.0	5.7	7.3	4.4	6.1	11871.3	3221	3.69	
	Total time	4.1	4.7	4.2	4.1	4.5	4.3	5.1	4.6	4.8	5.0	6.1	5.1	5.5	6.7	8.0	6.0	6.9	15857.0	3221	4.92	
June 2014	Number of Calls	126	117	591	230	55	275	126	193	392	294	235	89	65	221	3	122	117	3251	0		
	Exceptions																					
	Dispatch Response Time	1.2	0.7	1.1	1.2	0.8	1.2	0.8	0.9	0.9	1.1	1.7	1.2	1.5	1.1	1.0	0.8	1.3	3583.5	3251	1.10	
	Police Response Time	2.8	3.4	3.0	3.4	3.4	3.1	4.4	3.3	3.0	3.3	4.2	4.2	5.3	6.3	7.7	4.5	7.4	12218.1	3251	3.76	
	Total time	4.0	4.1	4.1	4.6	4.2	4.3	5.2	4.2	3.9	4.4	5.9	5.4	6.8	7.4	8.7	5.3	8.7	15801.6	3251	4.86	
July 2014	Number of Calls	122	117	535	261	43	276	141	170	457	304	252	125	61	238	8	105	139	3354	0		
	Exceptions																					
	Dispatch Response Time	0.9	0.9	1.1	0.9	1.1	0.8	0.8	1.1	1.1	1.0	1.2	0.9	0.9	1.1	14.0	1.9	1.5	3664.7	3354	1.09	
	Police Response Time	2.8	3.2	3.0	3.0	2.8	2.9	4.1	3.5	2.9	3.6	4.8	4.7	5.4	6.1	8.8	4.1	6.1	12544.7	3354	3.74	
	Total time	3.7	4.1	4.1	3.9	3.9	3.7	4.9	4.6	4.0	4.6	6.0	5.6	6.3	7.2	22.8	6.0	7.6	16209.4	3354	4.83	

Urgent-3 min or less
Routine-30 min or less
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria
Emergency Communications Center

Police Department
Urgent Calls for Service
By Police District

	Police District	VALLEY							BLUFF			RICHWOODS							Total Calls	Total Minutes	Calls	Average
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19				
August 2014	Number of Calls	113	150	510	254	69	291	124	195	418	277	252	126	95	222	5	112	125	3338	0		(total min/total calls)
	Exceptions																					
	Dispatch Response Time	0.9	0.8	1.2	1.2	1.4	1.3	1.0	0.9	1.1	1.1	1.7	0.7	1.0	1.1	1.6	0.9	1.2	3792.0	3338	1.14	
	Police Response Time	2.4	3.6	3.0	3.0	3.3	2.9	3.7	3.4	3.2	3.6	4.2	4.4	5.2	5.9	8.6	4.4	7.2	12483.8	3338	3.74	
	Total time	3.3	4.4	4.2	4.2	4.7	4.7	4.3	4.3	4.7	5.9	5.1	6.2	7.0	10.2	5.3	8.4	16275.8	3338	4.88		
September 2014	Number of Calls	109	129	450	201	49	251	112	154	387	248	233	111	78	172	3	96	127	2910	0		(total min/total calls)
	Exceptions																					
	Dispatch Response Time	1.0	1.1	1.1	1.0	0.7	1.1	0.9	1.5	1.3	1.3	1.0	1.6	0.7	1.5	0.7	1.4	1.9	3515.6	2910	1.21	
	Police Response Time	2.7	3.4	3.1	3.1	3.4	2.8	3.8	3.4	3.7	3.8	4.8	4.7	5.4	6.6	10.0	4.4	7.0	11481.8	2910	3.95	
	Total time	3.7	4.5	4.2	4.1	4.1	3.9	4.7	4.9	5.0	5.1	5.8	6.3	6.1	8.1	10.7	5.8	8.9	14997.4	2910	5.15	
October 2014	Number of Calls	113	110	416	188	47	216	100	151	355	225	240	98	73	195	3	78	108	2716	0		(total min/total calls)
	Exceptions																					
	Dispatch Response Time	1.2	0.9	0.9	0.9	1.0	0.7	0.9	1.2	1.3	1.6	1.2	1.0	0.9	1.0	3.5	0.8	1.6	2961.5	2716	1.09	
	Police Response Time	2.9	4.1	3.0	3.0	3.0	3.1	4.0	3.6	3.5	3.9	4.4	4.6	6.0	5.9	10.0	3.8	6.9	10631.8	2716	3.91	
	Total time	4.1	5.0	3.9	3.9	4.0	3.8	4.9	4.8	4.8	5.5	5.6	5.6	6.9	6.9	13.5	4.6	8.5	13593.3	2716	5.00	
November 2014	Number of Calls	115	123	368	148	54	247	104	154	247	219	184	113	77	210	3	108	79	2553	0		(total min/total calls)
	Exceptions																					
	Dispatch Response Time	0.7	0.9	0.8	1.0	1.3	0.9	0.8	1.1	1.6	1.0	0.8	1.3	0.6	1.4	0.5	1.6	0.8	2664.7	2553	1.04	
	Police Response Time	2.1	3.2	7.1	3.4	3.7	3.0	4.3	3.3	3.5	3.3	4.4	4.5	5.4	6.3	6.3	4.1	7.1	11314.0	2553	4.43	
	Total time	2.8	4.1	7.9	4.4	5.0	3.9	5.1	4.4	5.1	4.3	5.2	5.8	6.0	7.7	6.8	5.7	7.9	13978.7	2553	5.48	
YEAR TO DATE TOTALS AND AVERAGES																						
		Total Number of Calls							32005													
		Total Number of Exceptions							0													
		Average Dispatch Response Time							1.59													
		Average Police Response Time							4.02													
		Average Total Time							5.12													

Urgent-3 min or less
Routine-30 min or less
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria
Emergency Communications Center

Police Department
Routine Calls for Service
By Police District

	Police District	VALLEY							BLUFF			RICHWOODS							Total Calls	Total Minutes	Calls	Average
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19				
January 2014	Number of Calls	80	161	234	113	111	129	110	114	246	207	193	113	98	188	7	153	135	2392			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	7.9	9.5	7.9	10.4	9.9	11.6	9	10.4	11.2	10.7	11.6	8.8	11.3	9.5	9.8	11.9	13.9	24818.7	2392		10.38
	Police Response Time	4.6	6.8	5.4	5.4	6.5	5.5	6.9	5.9	5.7	5.6	6.5	8.1	7.4	8.7	11.1	8.8	9.2	15957.3	2392		6.67
	Total time	12.5	16.3	13.3	15.8	16.4	17.1	15.9	16.3	16.9	16.3	18.1	16.9	18.7	18.2	20.9	20.7	23.1	40776.0	2392		17.05
February 2014	Number of Calls	60	134	228	126	96	115	143	118	243	180	149	87	88	204	7	157	94	2229			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	8.3	9.6	10.1	11.8	9.8	5.8	11.8	8.3	13.2	14.7	12.0	8.7	8.5	10.9	13.1	12.7	17.7	24968.1	2229		11.20
	Police Response Time	5.2	6.5	5.8	5.4	5.7	5.0	6.5	6.0	5.4	5.8	7.5	6.8	7.4	8.6	10.1	8.6	9.3	14711.5	2229		6.60
	Total time	13.5	16.1	15.9	17.2	15.5	10.8	18.3	14.3	18.6	20.5	19.5	15.5	15.9	19.5	23.2	21.3	27.0	39679.6	2229		17.80
March 2014	Number of Calls	78	157	307	137	87	138	140	140	317	243	207	126	102	213	9	168	101	2670			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	8.9	15.0	11.4	16.3	12.3	11.9	14.5	12.4	17.5	16.6	14.9	14.9	15.0	15.9	2.1	15.6	12.6	38632.4	2670		14.47
	Police Response Time	4.5	5.1	4.7	4.4	5.1	5.2	6.8	6.0	5.6	5.1	6.0	7.4	7.6	8.1	10.4	8.5	7.8	16149.5	2670		6.05
	Total time	13.4	20.1	16.1	20.7	17.4	17.1	21.3	18.4	23.1	21.7	20.9	22.3	22.6	24.0	12.5	24.1	20.4	54781.9	2670		20.52
April 2014	Number of Calls	83	175	363	156	92	169	172	143	348	256	200	167	97	194	9	169	122	2915			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	14.6	13.4	14.0	17.1	15.8	15.7	14.7	17.7	17.8	15.4	16.2	16.6	13.7	17.5	6.7	14.5	17.7	46015.9	2915		15.79
	Police Response Time	4.7	5.8	4.4	5.3	5.5	4.5	5.4	5.3	5.3	5.0	6.7	6.6	7.2	8.3	12.0	8.0	7.3	17008.1	2915		5.83
	Total time	19.3	19.2	18.4	22.4	21.3	20.2	20.1	23.0	23.1	20.4	22.9	23.2	20.9	25.8	18.7	22.5	25.0	63024.0	2915		21.62
May 2014	Number of Calls	74	179	410	172	110	186	167	151	395	343	205	119	105	202	10	154	133	3115			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	9.7	12.8	13.3	16.5	14.2	12.6	16.8	16.3	17.3	17.4	14.0	10.9	11.4	16.5	36.1	15.1	15.0	46652.7	3115		14.98
	Police Response Time	4.7	5.7	4.6	4.2	6.5	4.7	6.3	5.5	5.1	5.1	6.3	7.2	7.4	8.0	12.2	7.5	7.5	18027.9	3115		5.79
	Total time	14.4	18.5	17.9	20.7	20.7	17.3	23.1	21.8	22.4	22.5	20.3	18.1	18.8	24.5	48.3	22.6	22.5	64680.6	3115		20.76
June 2014	Number of Calls	66	143	369	142	82	174	141	153	378	265	206	118	96	229	9	151	136	2858			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	12.8	12.0	13.5	15.9	15.4	12.2	11.9	13.8	16.1	16.9	14.7	13.6	8.5	15.2	33.8	12.5	18.7	41204.0	2858		14.42
	Police Response Time	4.4	4.9	4.7	4.5	6.2	4.4	6.1	5.0	4.9	5.4	6.1	7.0	7.1	8.6	13.1	7.2	8.6	16655.0	2858		5.83
	Total time	17.2	16.9	18.2	20.4	21.6	18.0	18.8	21.0	22.3	20.8	20.6	15.6	23.8	46.9	19.7	27.3	57859.0	2858		20.24	
July 2014	Number of Calls	74	194	397	189	97	191	139	147	419	238	192	118	113	214	8	161	147	3038			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	7.5	11.6	14.7	15.0	15.9	12.9	12.8	12.0	16.7	17.9	20.1	14.9	13.1	15.7	14.0	18.9	20.2	46865.0	3038		15.43
	Police Response Time	4.4	5.7	3.8	4.1	7.7	4.9	5.6	5.6	4.4	5.5	5.9	6.7	6.0	8.4	7.4	8.4	8.1	17153.2	3038		5.65
	Total time	11.9	17.3	18.5	19.1	23.6	17.8	18.4	17.6	21.1	23.4	26.0	21.6	19.1	24.1	21.4	27.3	28.3	64018.2	3038		21.07

Urgent-3 min or less
Routine-30 min or less
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria
Emergency Communications Center

Police Department
Routine Calls for Service
By Police District

	Police District	VALLEY							BLUFF			RICHWOODS							Total Calls	Total Minutes	Calls	Average
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19				
August 2014	Number of Calls	95	161	344	147	87	188	154	158	410	267	205	105	79	229	8	151	132	2920			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	11.6	14.6	12.4	14.3	10.7	13.4	15.3	12.4	18.2	16.8	18.7	12.5	16.3	16.2	20.0	18.5	11.4	44135.2	2920		15.11
	Police Response Time	4.2	5.2	4.7	4.2	5.3	4.6	6.0	6.2	4.7	5.4	6.0	6.3	6.8	8.6	11.8	8.7	7.9	16917.7	2920		5.79
	Total time	15.8	19.8	17.1	18.5	16.0	18.0	21.3	18.6	22.9	22.2	24.7	18.8	23.1	24.8	31.8	27.2	19.3	61052.9	2920		20.91
September 2014	Number of Calls	81	158	347	157	118	169	148	150	366	263	201	132	121	237	7	141	139	2935			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	8.8	13.8	12.4	18.1	16.2	14.3	15.6	13.9	18.2	22.5	15.0	16.7	15.5	17.3	14.8	15.2	20.6	47643.7	2935		16.23
	Police Response Time	3.9	5.8	4.6	4.8	7.3	4.4	5.4	5.4	5.6	6.0	6.4	7.0	8.4	8.9	19.3	7.1	8.7	18105.5	2935		6.17
	Total time	12.7	19.6	17.0	22.9	23.5	18.7	21.0	19.3	23.8	28.5	21.4	23.7	23.9	26.2	34.1	22.3	29.3	65749.2	2935		22.40
October 2014	Number of Calls	73	174	319	132	91	146	165	166	316	233	169	124	89	184	5	157	117	2660			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	10.5	12.5	11.1	11.8	12.8	11.2	12.2	9.2	17.1	17.8	15.0	10.6	17.0	21.6	13.6	11.8	14.1	36838.3	2660		13.85
	Police Response Time	4.3	5.8	4.9	4.7	5.4	5.3	6.7	6.0	5.4	5.8	6.0	6.6	7.1	8.9	9.8	6.6	9.1	16182.9	2660		6.08
	Total time	14.8	18.3	16.0	16.5	18.2	16.5	18.9	15.2	22.5	23.6	21.0	17.2	24.1	30.5	23.4	18.4	23.2	53021.2	2660		19.93
November 2014	Number of Calls	68	113	217	106	86	123	108	128	261	179	154	97	100	196	6	126	92	2160			(total min/total calls)
	Exceptions																		0			
	Dispatch Response Time	10.5	12.2	8.7	11.5	13.7	8.3	16.9	12.0	12.3	14.2	17.6	15.6	10.0	14.7	11.6	11.9	11.6	27252.9	2160		12.62
	Police Response Time	4.5	5.1	5.2	5.3	5.1	4.9	6.1	5.4	5.5	6.2	5.7	6.5	7.5	9.1	11.5	8.3	7.5	13355.8	2160		6.18
	Total time	15.0	17.3	13.9	16.8	18.8	13.2	23.0	17.4	17.8	20.4	23.3	22.1	17.5	23.8	23.1	20.2	19.1	40608.7	2160		18.80
YEAR TO DATE TOTALS AND AVERAGES																						
Total Number of Calls																		19217				
Total Number of Exceptions																		10675				
Average Dispatch Response Time																		14.04				
Average Police Response Time																		9.71				
Average Total Time																		14.85				

City of Peoria
Emergency Communications Center

Police Department
Backlog Calls for Service
By Police District

	Police District	VALLEY								BLUFF			RICHWOODS							Total Calls	(total min/total calls) Calls Average	
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19				
January 2014	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	169			
	Exceptions	5	36	14	8	5	6	9	7	17	19	5	7	14	8	0	1	8	0			
	Dispatch Response Time	22.0	19.5	9.9	12.9	6.4	1.5	36.4	23.0	34.4	18.1	12.8	14.6	36.5	8.1	0.0	4.0	14.6	3374.9	169	19.97	
	Police Response Time	12.6	8.7	4.4	5.8	5.8	3.3	9.3	8.1	7.3	5.2	4.6	7.7	9.5	8.7	0.0	0.0	11.8	1270.2	169	7.52	
Total time	34.6	28.2	14.3	18.7	12.2	4.8	45.7	31.1	41.7	23.3	17.4	22.3	46.0	16.8	0.0	4.0	26.4	4645.1	169	27.49		
February 2014	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	178			
	Exceptions	4	45	11	4	2	3	8	4	16	20	13	7	13	12	0	6	10	0			
	Dispatch Response Time	17.5	23.3	8.5	17.3	36.0	21.0	25.5	32.5	30.7	22.8	19.2	17.7	39.3	9.2	0.0	31.5	25.3	4134.2	178	23.23	
	Police Response Time	10.0	10.0	4.1	4.0	7.0	6.5	6.5	5.0	4.3	5.4	6.2	11.2	9.3	13.0	0.0	12.0	7.9	1420.3	178	7.98	
Total time	27.5	33.3	12.6	21.3	43.0	27.5	32.0	37.5	35.0	28.2	25.4	28.9	48.6	22.2	0.0	43.5	33.2	5554.5	178	31.21		
March 2014	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	190			
	Exceptions	6	37	13	7	2	8	13	7	25	13	13	7	7	9	1	10	12	0			
	Dispatch Response Time	15.8	20.4	18.0	25.1	29.0	17.5	30.1	22.3	21.9	23.9	26.8	32.0	13.4	31.3	0.0	31.7	22.2	4394.2	190	23.13	
	Police Response Time	3.3	7.3	5.8	4.0	3.0	4.4	5.4	5.2	5.6	4.5	7.8	5.7	7.7	6.8	19.0	8.2	8.0	1193.0	190	6.28	
Total time	19.1	27.7	23.8	29.1	32.0	21.9	35.5	27.5	27.5	28.4	34.6	37.7	21.1	38.1	19.0	39.9	30.2	5587.2	190	29.41		
April 2014	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	195			
	Exceptions	6	44	14	8	4	10	5	11	17	19	15	7	7	12	0	10	6	0			
	Dispatch Response Time	23.8	23.2	16.6	22.8	10.8	22.7	10.8	22.5	23.4	39.7	42.9	33.0	23.7	33.5	0.0	16.8	16.0	5008.6	195	25.69	
	Police Response Time	6.0	8.7	6.8	4.0	3.7	4.7	5.2	9.5	4.2	6.1	8.0	11.8	8.7	8.5	0.0	8.2	6.5	1412.1	195	7.24	
Total time	29.8	31.9	23.4	26.8	14.5	27.4	16.0	32.0	27.6	45.8	50.9	44.8	32.4	42.0	0.0	25.0	22.5	6420.7	195	32.93		
May 2014	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	183			
	Exceptions	3	48	24	8	2	3	2	4	20	20	10	6	7	7	0	10	9	0			
	Dispatch Response Time	7.3	12.7	28.7	27.8	40.0	4.0	11.0	2.0	25.1	24.9	17.4	20.2	23.1	26.4	0.0	24.5	41.6	3925.8	183	21.45	
	Police Response Time	9.5	7.4	7.1	4.8	9.0	9.3	5.5	7.5	6.3	5.1	5.8	6.0	6.9	8.2	0.0	8.2	10.9	1287.2	183	7.03	
Total time	16.8	20.1	35.8	32.6	49.0	13.3	16.5	9.5	31.4	30.0	23.2	26.2	30.0	34.6	0.0	32.7	52.5	5213.0	183	28.49		
June 2014	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	287			
	Exceptions	3	36	62	10	6	16	13	11	47	26	16	5	9	12		7	8	0			
	Dispatch Response Time	17.0	22.4	16.2	32.8	16.8	12.2	40.0	18.6	20.8	42.3	15.8	34.2	21.9	27.6	0.0	9.6	24.9	6506.3	287	22.67	
	Police Response Time	10.5	10.4	3.2	5.0	5.0	4.1	7.3	5.9	4.3	5.1	4.8	5.2	5.0	6.1	0.0	4.0	8.2	1559.0	287	5.43	
Total time	27.5	32.8	19.4	37.8	21.8	16.3	47.3	24.5	25.1	47.4	20.6	39.4	26.9	33.7	0.0	13.6	33.1	8065.3	287	28.10		
July 2014	Number of Calls	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	296			
	Exceptions	5	46	32	8	5	13	11	12	46	31	33	5	8	9		13	19	0			
	Dispatch Response Time	24.2	22.5	18.5	19.6	10.4	16.3	40.7	25.1	30.0	17.2	13.6	17.4	15.0	16.6	0.0	21.0	24.4	6372.6	296	21.53	
	Police Response Time	3.8	9.2	2.6	3.4	5.8	5.8	5.5	5.6	4.3	5.1	6.4	7.0	6.6	8.8	0.0	8.0	6.1	1738.7	296	5.87	
Total time	28.0	31.7	21.1	23.0	16.2	22.1	46.2	30.7	34.3	22.3	20.0	24.4	21.6	25.4	0.0	29.0	30.5	8111.3	296	27.40		

Urgent-3 min or less
Routine-30 min or less
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria
Emergency Communications Center

Police Department
Backlog Calls for Service
By Police District

	Police District	VALLEY							BLUFF			RICHWOODS							Total Calls	(total min/total calls)	
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19			
August 2014	Number of Calls	5	42	9	8	5	12	8	9	33	12	14	7	3	12	0	4	7	190		
	Exceptions																		0		
	Dispatch Response Time	15.4	19.0	14.6	18.5	16.6	13.6	21.3	28.0	26.5	27.0	12.4	20.1	16.0	28.3	0.0	17.0	39.9	4070.7	190	21.42
	Police Response Time	4.4	9.7	7.3	5.9	7.2	5.0	6.0	6.4	6.1	4.7	4.6	4.2	9.3	10.6	0.0	4.8	13.2	1362.1	190	7.17
	Total time	19.8	28.7	21.9	24.4	23.8	18.6	27.3	34.4	32.6	31.7	17.0	24.3	25.3	38.9	0.0	21.8	53.1	5432.8	190	28.59
September 2014	Number of Calls	2	50	8	7	5	6	4	8	14	13	10	3	1	11	1	3	8	154		
	Exceptions																		0		
	Dispatch Response Time	2.0	28.8	10.5	30.4	17.0	5.3	27.5	22.0	21.1	49.8	52.6	21.3	75.0	63.3	2.0	50.3	17.5	4740.5	154	30.78
	Police Response Time	5.0	7.4	3.4	6.8	6.6	3.7	7.0	10.7	5.5	8.7	4.9	6.7	20.0	8.9	8.0	7.0	11.9	1124.9	154	7.30
	Total time	7.0	36.2	13.9	37.2	23.6	9.0	34.5	32.7	26.6	58.5	57.5	28.0	95.0	72.2	10.0	57.3	29.4	5865.4	154	38.09
October 2014	Number of Calls	3	43	19	6	4	12	14	11	15	12	8	5	2	9	0	7	9	179		
	Exceptions																		0		
	Dispatch Response Time	12.5	22.7	14.9	13.2	22.8	14.7	30.5	19.6	19.5	24.1	46.4	26.8	7.5	45.1	0.0	31.7	20.1	4196.7	179	23.45
	Police Response Time	8.0	8.1	5.1	4.8	3.3	5.2	7.5	5.5	5.4	6.4	6.0	9.5	8.5	9.8	0.0	6.0	10.9	1237.7	179	6.91
	Total time	8.1	30.8	20.0	18.0	26.1	19.9	38.0	25.1	24.9	30.5	52.4	36.3	16.0	54.9	0.0	37.7	31.0	5434.4	179	30.36
November 2014	Number of Calls	4	36	14	5	2	9	5	13	15	15	7	6	5	10	0	2	2	150		
	Exceptions																		0		
	Dispatch Response Time	4.5	22.7	3.8	47.0	0.0	26.8	13.6	28.3	43.2	38.7	10.6	28.0	25.0	23.4	0.0	27.5	40.5	3766.2	150	25.11
	Police Response Time	3.3	10.1	6.8	5.6	0.0	6.0	6.8	7.8	5.1	5.9	7.0	11.2	9.6	7.4	0.0	7.0	8.5	1123.6	150	7.49
	Total time	8.1	32.8	10.6	52.6	0.0	32.8	20.4	36.1	48.3	44.6	17.6	39.2	34.6	30.8	0.0	34.5	49.0	4889.8	150	32.60
YEAR TO DATE TOTALS AND AVERAGES																					
																		Total Number of Calls			2171
																		Total Number of Exceptions			0.0
																		Average Dispatch Response Time			21.48
																		Average Police Response Time			6.91
																		Average Total Time			29.60

Urgent-3 min or less
Routine-30 min or less
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria
Emergency Communications Center

Peoria Fire Department
Fire Calls for Service
By Fire Map

	Fire Map	VALLEY				BLUFF			RICHWOODS					Total Calls	Total Minutes	Calls	Average
		100-199	200-299	400-499	1200-1299	300-399	1000-1099	1100-1199	1300-1399	1500-1599	1600-1699	1900-1999	2000-2099				
January 2014	Number of Calls	263	96	225	65	153	148	123	236	53	151	80	50	1643			(total min/total calls)
	Dispatch Response Time	0.6	0.8	0.4	0.4	0.9	0.4	1.1	1.5	2.7	0.3	0.8	0.3	1304.2	1643	0.79	
	Fire Response Time	3.8	4	4.2	4.6	4.2	5	4.6	5.4	4.3	5.1	6.3	6	7652.2	1643	4.66	
	Total time	4.4	4.8	4.6	5.0	5.1	5.4	5.7	6.9	7.0	5.4	7.1	6.3	8956.4	1643	5.45	
February 2014	Number of Calls	244	79	175	59	130	146	114	225	43	128	78	32	1453			(total min/total calls)
	Dispatch Response Time	0.7	0.6	0.6	1.2	0.4	0.4	1.1	1.0	0.5	0.6	0.8	0.5	1031.5	1453	0.71	
	Fire Response Time	3.8	4.3	3.8	5.9	4.2	5.2	4.3	5.3	5	4.8	5.5	5.5	6702.3	1453	4.61	
	Total time	4.5	4.9	4.4	7.1	4.6	5.6	5.4	6.3	5.5	5.4	6.3	6.0	7733.8	1453	5.32	
March 2014	Number of Calls	277	98	221	64	138	144	103	217	26	138	73	37	1536			(total min/total calls)
	Dispatch Response Time	0.5	0.4	0.9	0.4	0.8	2.0	0.6	0.5	1.0	0.7	1.1	0.9	1207.1	1536	0.79	
	Fire Response Time	3.5	3.7	4	4.9	4.1	4.7	4.3	4.9	5.1	4.7	5.8	5.6	6690.3	1536	4.36	
	Total time	4.0	4.1	4.9	5.3	4.9	6.7	4.9	5.4	6.1	5.4	6.9	6.5	7897.4	1536	5.14	
April 2014	Number of Calls	279	90	207	62	140	144	122	218	49	122	63	35	1531			(total min/total calls)
	Dispatch Response Time	0.6	1.9	0.6	1.2	0.8	1.3	0.5	0.9	1.2	0.3	0.5	0.3	1230.8	1531	0.80	
	Fire Response Time	3.5	3.6	4	4.9	4.1	4.4	4.2	4.8	5.3	4.6	5.5	5.5	6558.6	1531	4.28	
	Total time	4.1	5.5	4.6	6.1	4.9	5.7	4.7	5.7	6.5	4.9	6.0	5.8	7789.4	1531	5.09	
May 2014	Number of Calls	272	105	239	61	153	145	108	179	34	141	65	33	1535			(total min/total calls)
	Dispatch Response Time	0.9	0.4	0.5	0.3	0.5	0.8	0.8	1.2	0.2	0.3	2.3	1.1	1153.2	1535	0.75	
	Fire Response Time	3.5	3.7	4	5.6	3.9	4.4	4.3	4.7	5.0	4.7	5.6	5.2	6546.8	1535	4.27	
	Total time	4.4	4.1	4.5	5.9	4.4	5.2	5.1	5.9	5.2	5.0	7.9	6.3	7700.0	1535	5.02	
June 2014	Number of Calls	298	219	105	63	152	137	84	201	41	124	73	33	1530			(total min/total calls)
	Response Time	0.8	0.9	0.5	0.9	0.6	0.7	1.3	1.2	0.3	0.6	0.4	0.3	1208.0	1530	0.79	
	Time	3.4	4	4	5.2	3.9	4.6	4.5	4.7	4.9	4.7	6.1	4.7	6566.6	1530	4.29	
	Total time	4.2	4.9	4.5	6.1	4.5	5.3	5.8	5.9	5.2	5.3	6.5	5.0	7774.6	1530	5.08	
July 2014	Number of Calls	279	111	222	83	155	165	112	208	45	129	70	27	1606			(total min/total calls)
	Response Time	0.9	0.7	0.6	0.4	0.5	1.9	0.6	0.3	0.5	0.4	0.6	0.1	1134.6	1606	0.71	
	Time	3.4	4	3.9	5.3	3.8	4.7	4.2	4.9	4.5	4.8	5.5	6.4	6931.9	1606	4.32	
	Total time	4.3	4.7	4.5	5.7	4.3	6.6	4.8	5.2	5.0	5.2	6.1	6.5	8066.5	1606	5.02	

City of Peoria
Emergency Communications Center

Peoria Fire Department
Fire Calls for Service
By Fire Map

Month	Fire Map	VALLEY				BLUFF			RICHWOODS					Total Calls	Total Minutes	Calls	Average
		100-199	200-299	400-499	1200-1299	300-399	1000-1099	1100-1199	1300-1399	1500-1599	1600-1699	1900-1999	2000-2099				
August 2014	Number of Calls	273	117	216	77	176	149	97	234	49	144	82	44	1658			(total min/total calls)
	Response Time	0.7	0.4	0.6	0.9	0.7	0.5	1.5	1.4	0.2	0.5	0.6	0.4	1256.2	1658	0.76	
	Time	3.5	3.8	4.1	4.7	3.7	4.5	3.9	4.8	4.0	4.5	5.3	5.7	7000.2	1658	4.22	
	Total time	4.2	4.2	4.7	5.6	4.4	5.0	5.4	6.2	4.2	5.0	5.9	6.1	8256.4	1658	4.98	
September 2014	Number of Calls	262	89	232	62	169	132	101	224	41	117	72	43	1544			(total min/total calls)
	Response Time	0.5	0.8	0.7	0.6	0.6	0.7	1.6	0.7	0.4	0.8	1.5	1.3	1187.9	1544	0.77	
	Time	3.3	3.4	4.3	4.9	3.9	4.7	3.9	4.5	4.0	4.5	5.9	5.3	6493.2	1544	4.21	
	Total time	3.8	4.2	5.0	5.5	4.5	5.4	5.5	5.2	4.4	5.3	7.4	6.6	7681.1	1544	4.97	
October 2014	Number of Calls	266	112	207	79	160	152	80	192	43	127	48	48	1514			(total min/total calls)
	Response Time	0.8	0.5	0.6	0.6	0.6	1.3	0.4	0.5	0.7	0.4	0.7	0.9	1019.7	1514	0.67	
	Time	3.5	3.6	4.2	6.2	3.9	4.4	4.2	4.7	4.5	4.3	5.3	5.4	6477.8	1514	4.28	
	Total time	4.3	4.1	4.8	6.8	4.5	5.7	4.6	5.2	5.2	4.7	6.0	6.3	7497.5	1514	4.95	
November 2014	Number of Calls	236	98	209	67	159	127	102	154	50	116	53	32	1403			(total min/total calls)
	Response Time	0.3	0.8	0.4	1.0	0.8	1.1	1.0	0.5	0.3	0.2	0.2	0.6	813.7	1403	0.58	
	Time	3.4	3.8	4	5.2	3.9	4.7	4.2	4.9	4.3	4.9	6.1	5.8	6051.5	1403	4.31	
	Total time	3.7	4.6	4.4	6.2	4.7	5.8	5.2	5.4	4.6	5.1	6.3	6.4	6865.2	1403	4.89	
YEAR TO DATE TOTALS AND AVERAGES																	
Total Number of Calls												16953					
Average Dispatch Response Time												0.74					
Average Fire Response Time												4.35					
Average Total Time												5.08					

Peoria Fire Department
Average Turn-Out Time for Each Apparatus

	JAN	FEB	MAR	APR	MAY	JUN	JUL	AUG	SEP	OCT	NOV	DEC	Yearly Average
B1	1.5	1.6	1.5	1.4	1.4	1.3	1.5	1.5	1.4	1.4	1.4		1.45
E1	1.7	1.6	1.6	1.5	1.5	1.6	1.5	1.6	1.5	1.5	1.6		1.56
R1	1.5	1.4	1.5	1.4	1.4	1.4	1.5	1.4	1.3	1.4	1.4		1.42
T1	1.8	1.4	1.8	1.6	1.6	1.6	1.7	1.7	1.6	1.6	1.8		1.65
E10	1.7	1.5	1.6	1.5	1.5	1.5	1.5	1.6	1.4	1.5	1.5		1.53
E12	1.6	1.8	1.5	1.5	1.4	1.6	1.6	1.4	1.4	1.5	1.5		1.53
E13	1.6	1.6	1.6	1.4	1.5	1.5	1.5	1.5	1.3	1.4	1.5		1.49
T14	1.7	2.1	1.5	1.4	1.5	1.4	1.5	1.5	1.5	1.5	1.6		1.56
E15	1.7	1.7	1.8	1.7	1.6	1.6	1.6	1.8	1.5	1.6	1.6		1.65
E16	1.7	1.6	1.5	1.4	1.4	1.4	1.4	1.5	1.4	1.4	1.6		1.48
E19	1.8	1.8	1.8	1.6	1.7	1.6	1.6	1.7	1.5	1.5	1.6		1.65
E2	1.6	1.6	1.6	1.6	1.4	1.5	1.5	1.5	1.5	1.5	1.5		1.53
R2	1.5	1.5	1.4	1.4	1.3	1.5	1.3	1.4	1.3	1.3	1.5		1.40
E20	1.8	1.6	1.7	1.6	1.5	1.7	1.6	1.6	1.6	1.4	1.6		1.30
B3	1.6	1.7	1.6	1.5	1.7	1.5	1.5	1.7	1.6	1.6	1.6		1.60
E3	1.3	1.3	1.3	1.3	1.2	1.3	1.2	1.2	1.2	1.2	1.2		1.25
T3	1.6	1.5	1.7	1.5	1.6	1.5	1.4	1.5	1.5	1.5	1.6		1.54
E4	1.5	1.8	1.5	1.4	1.4	1.4	1.3	1.3	1.3	1.4	1.5		1.44
T4	1.5	2.2	1.5	1.6	1.5	1.6	1.6	1.3	1.4	1.3	1.5		1.55
												Department Average	1.50

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Urgent calls for service by district

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		
January 2014	Number of Calls	5	2	9	2	91	80	51	19	36	28	64		387		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	1.8	8.5	1.0	0.0	1.7	2.0	1.6	1.0	0.7	1.3	1.8		627.1	387	1.62
	Police Response Time	4.6	12.5	9.1	14.0	8.2	8.0	12.7	7.6	3.4	8.5	4.5		2984.6	387	7.71
	Total time	6.4	21.0	10.1	14.0	9.9	10.0	14.3	8.6	4.1	9.8	6.3		3611.7	387	9.33
February 2014	Number of Calls	2	2	4	0	82	61	34	5	18	34	58		300		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	1.0	1.0	0.3	0.0	1.6	1.4	1.3	1.6	0.8	2.4	1.4		451.2	300	1.50
	Police Response Time	1.0	21.0	11.0	0.0	9.0	8.8	10.9	6.2	2.9	9.2	5.1		2425.2	300	8.08
	Total time	2.0	22.0	11.3	0.0	10.6	10.2	12.2	7.8	3.7	11.6	6.5		2876.4	300	9.59
March 2014	Number of Calls	3	10	7	1	77	80	40	5	21	36	89		369		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	3.0	0.9	1.6		2.6	1.6	1.6	0.5	0.6	2.7	1.3		649.4	369	1.76
	Police Response Time	4.3	15.0	8.0	15.0	7.6	6.9	12.9	7.5	3.9	6.5	3.8		2578.7	369	6.99
	Total time	7.3	15.9	9.6	15.0	10.2	8.5	14.5	8.0	4.5	9.2	5.1		3228.1	369	8.75
April 2014	Number of Calls	3	2	9	1	105	78	48	14	29	40	63		392		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	4.7	0.0	1.5	0.0	2.0	2.6	3.3	1.4	0.5	1.0	1.2		748.5	392	1.91
	Police Response Time	1.5	16.5	4.1	14.0	7.7	7.2	11.1	6.4	3.9	6.2	3.4		2656.2	392	6.78
	Total time	6.2	16.5	5.6	14.0	9.7	9.8	14.4	7.8	4.4	7.2	4.6		3404.7	392	8.69
May 2014	Number of Calls	3	2	8	3	82	103	43	8	26	45	92		415		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	1.0	4.0	1.7	0.7	1.5	2.3	1.7	0.7	1.8	1.9	2.2		800.0	415	1.93
	Police Response Time	4.0	8.0	7.5	12.0	6.9	6.8	10.5	5.9	3.8	8.0	4.1		2724.9	415	6.57
	Total time	5.0	12.0	9.2	12.7	8.4	9.1	12.2	6.6	5.6	9.9	6.3		3524.9	415	8.49
June 2014	Number of Calls	7	3	10	0	106	101	50	15	30	34	84		440		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	1.8	1.3	3.7	0.0	1.8	1.7	1.1	0.5	1.7	2.0	1.4		715.1	440	1.63
	Police Response Time	2.2	20.7	5.2	0.0	7.0	6.0	12.2	5.9	3.5	6.9	3.8		2834.8	440	6.44
	Total time	4.0	22.0	8.9	0.0	8.8	7.7	13.3	6.4	5.2	8.9	5.2		3549.9	440	8.07
July 2014	Number of Calls	3	4	10	1	103	69	48	10	29	17	70		364		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	4.5	0.5	0.8	1.0	1.7	2.7	3.6	2.0	1.1	1.0	1.3		718.6	364	1.97
	Police Response Time	3.0	9.8	8.0	16.0	6.8	6.0	12.2	11.0	3.8	6.1	4.1		2455.1	364	6.74
	Total time	7.5	10.3	8.8	17.0	8.5	8.7	15.8	13.0	4.9	7.1	5.4		3173.7	364	8.72

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Urgent calls for service by district

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls			
August 2014	Number of Calls	6	8	8	3	103	102	50	18	37	49	87		471		(total min/total calls)	
	Exceptions													0			
	Dispatch Response Time	1.0	6.7	0.6	0.0	1.5	1.5	1.5	0.6	1.4	1.9	1.3		715.7	471	1.52	
	Police Response Time	7.4	15.6	9.3	12.5	8.0	7.5	11.5	5.4	3.1	7.4	4.1		3376.3	471	7.17	
	Total time	8.4	22.3	9.9	12.5	9.5	9.0	13.0	6.0	4.5	9.3	5.4		4092.0	471	8.69	
September 2014	Number of Calls	5	3	8	2	84	85	43	18	33	29	72		382		(total min/total calls)	
	Exceptions													0			
	Dispatch Response Time	1.0	1.0	1.0	0.0	1.3	1.7	2.3	2.4	0.9	1.2	1.6		591.5	382	1.55	
	Police Response Time	6.8	18.7	10.9	9.0	7.7	7.0	12.2	8.7	3.6	6.9	4.7		2775.6	382	7.27	
	Total time	7.8	19.7	11.9	9.0	9.0	8.7	14.5	11.1	4.5	8.1	6.3		3367.1	382	8.81	
October 2014	Number of Calls	1	6	4	0	72	67	68	4	40	40	75		377		(total min/total calls)	
	Exceptions													0			
	Dispatch Response Time	1.0	1.7	3.0	0.0	1.8	2.0	1.1	0.8	1.4	1.1	1.2		554.8	377	1.47	
	Police Response Time	0.0	20.0	10.5	0.0	7.3	8.3	11.0	6.5	3.4	6.3	3.4		2660.7	377	7.06	
	Total time	1.0	21.7	13.5	0.0	9.1	10.3	12.1	7.3	4.8	7.4	4.6		3215.5	377	8.53	
November 2014	Number of Calls	5	2	11	2	95	90	56	15	37	40	65		418		(total min/total calls)	
	Exceptions													0			
	Dispatch Response Time	10.3	1.5	1.0	2.0	2.4	2.9	1.7	0.9	1.3	1.4	1.2		849.3	418	2.03	
	Police Response Time	5.2	24.0	8.0	20.5	7.7	8.5	12.2	8.8	4.1	7.5	4.5		3258.9	418	7.80	
	Total time	15.5	25.5	9.0	22.5	10.1	11.4	13.9	9.7	5.4	8.9	5.7		4108.2	418	9.83	
YEAR TO DATE TOTALS AND AVERAGES																	
														Total Number of Calls			4315
														Total Number of Exceptions			392
														Average Dispatch Response Time			1.72
														Average Police Response Time			7.15
														Average Total Time			8.86

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Routine calls by district

Month	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls	Total Minutes	Calls	Average
		Number of Calls	Exceptions	Response Time	Police Response Time	Total time											
January 2014	Number of Calls	35	4	8	3	91	121	51	5	47	41	77		483			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	8.7	18.3	3.0	17.3	11.0	8.9	10.4	9.2	8.7	6.9	9.4		4523.5	483	9.37	
	Police Response Time	3.7	19.8	5.3	22.0	12.1	10.0	15.6	6.0	4.9	8.8	6.1		4514.6	483	9.35	
	Total time	12.4	38.1	8.3	39.3	23.1	18.9	26.0	15.2	13.6	15.7	15.5		9038.1	483	18.71	
February 2014	Number of Calls	11	8	5	4	87	128	54	5	19	41	64		426			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	10.4	16.1	9.6	5.7	11.6	10.1	14.6	40.4	9.2	9.3	8.4		4700.1	426	11.03	
	Police Response Time	4.5	18.3	9.3	21.3	12.0	10.0	15.1	19.4	4.5	9.3	5.0		4350.8	426	10.21	
	Total time	14.9	34.4	18.9	27.0	23.6	20.1	29.7	59.8	13.7	18.6	13.4		9050.9	426	21.25	
March 2014	Number of Calls	33	11	5	1	116	116	56	14	29	47	92		520			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	8.1	8.1	10.2		14.2	13.0	8.7	16.3	9.2	13.4	12.2		6297.0	520	12.11	
	Police Response Time	4.8	17.5	6.6	0.0	10.8	9.1	14.4	15.2	6.6	11.8	5.5		4963.5	520	9.55	
	Total time	12.9	25.6	16.8	0.0	25.0	22.1	23.1	31.5	15.8	25.2	17.7		11260.5	520	21.65	
April 2014	Number of Calls	28	5	8	1	96	131	61	17	34	42	100		523			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	9.7	14.4	23.1	0.0	9.2	12.8	10.4	4.4	10.5	6.7	15.4		5976.0	523	11.43	
	Police Response Time	6.3	16.4	7.1	0.0	9.6	8.9	11.7	10.1	4.5	8.1	6.0		4381.3	523	8.38	
	Total time	16.0	30.8	30.2	0.0	18.8	21.7	22.1	14.5	15.0	14.8	21.4		10357.3	523	19.80	
May 2014	Number of Calls	41	9	14	1	140	194	52	9	36	57	88		641			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	4.3	5.8	14.3	9.0	10.3	10.3	6.5	11.4	9.4	17.4	14.0		6880.7	641	10.73	
	Police Response Time	4.8	19.0	6.9	0.0	10.0	9.4	12.8	16.6	6.5	8.7	5.7		5734.5	641	8.95	
	Total time	9.1	24.8	21.2	9.0	20.3	19.7	19.3	28.0	15.9	26.1	19.7		12615.2	641	19.68	
June 2014	Number of Calls	28	8	6	4	115	148	66	13	44	51	104		587			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	10.4	1.5	6.0	8.0	12.4	9.5	10.0	11.2	13.3	9.8	14.7		6622.6	587	11.28	
	Police Response Time	5.9	23.3	7.3	19.8	10.1	8.6	12.3	12.8	5.6	8.5	6.9		5284.6	587	9.00	
	Total time	16.3	24.8	13.3	27.8	22.5	18.1	22.3	24.0	18.9	18.3	21.6		11907.2	587	20.28	
July 2014	Number of Calls	24	7	5	2	159	140	71	16	34	60	107		625			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	18.2	13.7	36.7	19.5	11.6	11.3	8.4	9.3	11.9	8.0	13.3		7234.5	625	11.58	
	Police Response Time	7.4	17.3	12.6	8.5	10.5	9.2	13.6	15.4	4.2	8.3	5.9		5820.3	625	9.31	
	Total time	25.6	31.0	49.3	28.0	22.1	20.5	22.0	24.7	16.1	16.3	19.2		13054.8	625	20.89	

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Routine calls by district

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		
		Number of Calls													Total Minutes	Calls
August 2014	Number of Calls	36	13	11	4	111	157	60	22	44	59	99		616		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	8.8	9.9	4.8	12.8	10.1	8.7	8.8	6.4	9.3	8.2	8.6		5449.7	616	8.85
	Police Response Time	4.1	19.7	10.5	17.0	10.9	9.5	12.5	9.5	5.4	10.4	7.0		5791.8	616	9.40
	Total time	12.9	29.6	15.3	29.8	21.0	18.2	21.3	15.9	14.7	18.6	15.6		11241.5	616	18.25
September 2014	Number of Calls	31	2	12	2	105	119	62	7	54	46	102		542		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	13.7	1.5	6.9	3.0	9.4	7.3	7.2	2.2	8.7	6.9	9.5		4590.2	542	8.47
	Police Response Time	6.4	17.5	7.5	13.0	10.9	9.6	13.8	7.9	5.6	9.2	5.7		4854.2	542	8.96
	Total time	20.1	19.0	14.4	16.0	20.3	16.9	21.0	10.1	14.3	16.1	15.2		9444.4	542	17.43
October 2014	Number of Calls	43	8	10	0	108	125	67	8	30	43	69		511		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	7.2	14.6	13.4	0.0	11.1	7.3	7.6	7.4	14.3	9.4	11.2		4846.1	511	9.48
	Police Response Time	4.6	15.7	7.7	0.0	11.9	9.1	16.7	7.7	4.9	10.5	6.9		5078.2	511	9.94
	Total time	11.8	30.3	21.1	0.0	23.0	16.4	24.3	15.1	19.2	19.9	18.1		9924.3	511	19.42
November 2014	Number of Calls	49	1	2	3	113	109	63	14	47	41	68		510		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	6.5	2.0	3.5	18.3	8.2	9.2	9.7	4.6	7.3	8.2	6.2		4088.2	510	8.02
	Police Response Time	4.3	18.0	10.5	12.3	9.7	8.8	12.4	12.1	4.6	10.2	6.3		4355.3	510	8.54
	Total time	10.8	20.0	14.0	30.6	17.9	18.0	22.1	16.7	11.9	18.4	12.5		8443.5	510	16.56
YEAR TO DATE TOTALS AND AVERAGES																
													Total Number of Calls			5984.0
													Total Number of Exceptions			0
													Average Dispatch Response Time			10.21
													Average Police Response Time			9.23
													Average Total Time			19.45

City of Peoria
 Emergency Communications Center
 Peoria County Sheriff's Department
 Backlog Calls for Service by District

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		
		Number of Calls														
January 2014	Number of Calls	12	1	2	0	8	10	6	4	1	2	0		46		
	Exceptions													0		
	Dispatch Response Time	80.3	17.0	0.5	0.0	19.0	10.6	11.3	4.0	11.0	49.5	0.0		1433.4	46	31.2
	Police Response Time	21.8	0.0	1.0	0.0	11.3	6.7	13.2	7.0	0.0	28.0	0.0		584.2	46	12.7
	Total time	102.1	17.0	1.5	0.0	30.3	17.3	24.5	11.0	11.0	77.5	0.0	0.0	2017.6	46	43.9
February 2014	Number of Calls	0	6	1	4	7	10	1	9	0	0	6		44		
	Exceptions													0		
	Dispatch Response Time	174.5	1.0	0.0	0.0	6.8	6.3	20.4	12.0	8.6	14.4	34.9		454.4	44	10.3
	Police Response Time	30.0	22.0	0.0	0.0	12.8	12.3	12.6	7.0	12.1	5.8	14.3		506.0	44	11.5
	Total time	204.5	23.0	0.0	0.0	19.6	18.6	33.0	19.0	20.7	20.2	49.2	0.0	960.4	44	21.8
March 2014	Number of Calls	12	0	1	0	10	8	6	2	1	5	8		53		
	Exceptions													0		
	Dispatch Response Time	148.0		18.0		18.5	45.3	4.5	0.5	5.0	16.4	15.9		2583.6	53	48.7
	Police Response Time	20.3		14.0	0.0	16.1	5.5	15.4	2.0	6.0	14.6	5.9		684.9	53	12.9
	Total time	168.3	0.0	32.0	0.0	34.6	50.8	19.9	2.5	11.0	31.0	21.8	0.0	3268.5	53	61.7
April 2014	Number of Calls	9	0	4	0	6	9	11	0	3	7	6		55		
	Exceptions													0		
	Dispatch Response Time	161.2	0.0	6.0	0.0	6.7	9.8	14.5	0.0	48.0	21.4	48.5		2347.5	55	42.7
	Police Response Time	15.0	0.0	3.8	0.0	17.6	4.7	17.5	0.0	11.0	6.3	5.2		598.9	55	10.9
	Total time	176.2	0.0	9.8	0.0	24.3	14.5	32.0	0.0	59.0	27.7	53.7	0.0	2946.4	55	53.6
May 2014	Number of Calls	12	0	3	0	3	16	4	0	2	7	11		58		
	Exceptions													0		
	Dispatch Response Time	137.5	0.0	3.0	0.0	1.7	17.3	11.8	0.0	1.0	38.9	18.8		2469.2	58	42.6
	Police Response Time	17.3	0.0	6.3	0.0	15.3	9.8	29.8	0.0	1.5	11.4	6.5		702.7	58	12.1
	Total time	154.8	0.0	9.3	0.0	17.0	27.1	41.6	0.0	2.5	50.3	25.3	0.0	3171.9	58	54.7
June 2014	Number of Calls	8	1	3	1	13	13	12	0	3	2	9		65		
	Exceptions													0		
	Dispatch Response Time	146.1	1.0	28.0	0.0	9.4	4.8	4.7	0.0	1.7	39.0	17.9		1739.0	65	26.8
	Police Response Time	19.3	26.0	1.0	18.0	12.5	7.6	11.3	0.0	6.0	9.5	8.3		710.0	65	10.9
	Total time	165.4	27.0	29.0	18.0	21.9	12.4	16.0	0.0	7.7	48.5	26.2	0.0	2449.0	65	37.7
July 2014	Number of Calls	12	0	3	0	14	28	3	2	9	8	9		88		
	Exceptions													0		
	Dispatch Response Time	144.2	0.0	51.0	0.0	8.3	9.4	29.0	0.0	15.1	13.4	22.0		2790.9	88	31.7
	Police Response Time	18.8	0.0	4.0	0.0	9.4	9.4	15.0	12.5	5.4	7.6	6.9		873.9	88	9.9
	Total time	163.0	0.0	55.0	0.0	17.7	18.8	44.0	12.5	20.5	21.0	28.9	0.0	3664.8	88	41.6

Urgent-3 min or less
 Routine-30 min or less
 Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Backlog Calls for Service by District

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		(total min/total calls) Average
		Number of Calls	Exceptions	Dispatch Response Time	Police Response Time	Total time	Total Minutes	Calls								
August 2014	Number of Calls	19	0	1	0	7	12	5	2	2	4	6		58		
	Exceptions													0		
	Dispatch Response Time	133.9	0.0	41.0	0.0	27.1	8.5	14.6	5.0	1.5	30.5	6.6		3124.4	58	53.9
	Police Response Time	17.6	0.0	15.0	0.0	12.4	14.3	13.8	19.0	6.0	16.8	6.2		831.2	58	14.3
	Total time	151.5	0.0	56.0	0.0	39.5	22.8	28.4	24.0	7.5	47.3	6.6	0.0	3955.6	58	68.2
September 2014	Number of Calls	13	0	1	0	6	16	8	1	0	5	5		55		
	Exceptions													0		
	Dispatch Response Time	114.9	0.0	1.0	0.0	14.0	2.5	6.6	16.0	0.0	9.3	36.0		1914.0	55	34.8
	Police Response Time	17.2	0.0	7.0	0.0	16.7	6.7	11.1	21.0	0.0	6.0	3.6		595.8	55	10.8
	Total time	132.1	0.0	8.0	0.0	30.7	9.2	17.7	37.0	0.0	15.3	36.0	0.0	2509.8	55	45.6
October 2014	Number of Calls	7	1	2	0	10	13	7	0	7	6	10		63		
	Exceptions													0		
	Dispatch Response Time	38.3	59.0	59.0	0.0	12.9	7.0	5.7	0.0	13.0	5.0	5.7		883.0	63	14.0
	Police Response Time	20.1	10.0	0.0	0.0	10.1	8.3	25.7	0.0	4.1	7.8	8.2		697.0	63	11.1
	Total time	58.4	69.0	59.0	0.0	23.0	15.3	31.4	0.0	17.1	12.8	5.7	0.0	1580.0	63	25.1
November 2014	Number of Calls	10	0	4	0	5	7	5	1	3	6	6		47		
	Exceptions													0		
	Dispatch Response Time	62.3	0.0	13.8	0.0	7.4	3.0	17.8	11.0	5.0	23.2	6.7		1030.6	47	21.9
	Police Response Time	16.7	0.0	4.7	0.0	10.0	9.9	11.8	4.0	5.7	12.0	7.6		502.8	47	10.7
	Total time	79.0	0.0	18.5	0.0	17.4	12.9	29.6	15.0	10.7	35.2	6.7	0.0	1533.4	47	32.6
YEAR TO DATE TOTALS AND AVERAGES																
													Total Number of Calls	632		
													Total Number of Exceptions	110.0		
													Average Dispatch Response Time	32.60		
													Average Police Response Time	11.63		
													Average Total Time	44.23		



**ZONING BOARD OF APPEALS
THURSDAY, DECEMBER 11, 2014
CITY HALL, ROOM 404 – 1:30 P.M.**

AGENDA

- 1. CALL TO ORDER**
- 2. ROLL CALL**
- 3. APPROVAL OF OCTOBER 9, 2014 MINUTES**

4. REGULAR BUSINESS

Deliberations will be held at the end of each case after public comment has been closed. No public comment is allowed during deliberations.

CASE NO. Public Hearing on the request of William R. Clarke for a variance from the City of Peoria Land Development Code Section 4.2.4.I. Elements to allow a reduction in window requirements, in a Class CG (General Commercial) District, for the property identified as Parcel Identification No. 18-03-253--012 and 18-03-253-010 with an address of 1419-1421 NE Jefferson Avenue, Peoria, IL (Council District 1)
ZBA 2992

- 5. COMMISSION TRAINING**
- 6. CITIZENS' OPPORTUNITY TO ADDRESS THE COMMISSION**
- 7. ADJOURNMENT**



SITE PLAN REVIEW BOARD AGENDA

Plans Distributed: December 1, 2014

Comments Due: December 8, 2014

Project ID	Address	Project Type	Project Description
14-322	9000 N Allen Rd 14-06-126-004	Site Plan Review Board - Zoning Certificate	Revision - AutoZone - Council District 5 - LA
14-369	512 514 Spring St 18-03-183-003	Site Plan Review Board - Zoning Certificate	African Hair Braiding - Council District 1 - KS
14-372	2627 N Knoxville Ave 14-33-178-025	Site Plan Review Board - Zoning Certificate	Change of Use - Animal Hospital - Council District 2 - ST
14-373	2027 W Farmington Rd 18-06-426-003	Site Plan Review Board - Zoning Certificate	Change of Use - Hooka Cafe - Council District 2 - ST

Staff Contacts:

Name	Leah Allison	Jide Giwa	Josh Naven	Kimberly Smith	Shannon Techie
Initials	LA	JG	JN	KS	ST
Phone	494-8667	494-8611	494-8657	494-8612	494-8649
Email	lallison@peoriagov.org	ogiwa@peoriagov.org	jnaven@peoriagov.org	kismith@peoriagov.org	stechie@peoriagov.org

HOUSING COURT 12/9/14

56 CASES

DG	NO	09:45 AM	SHULLAW THOMAS/MARTHA	HC-14-690	BIGELOW 1521	09-Dec-14	FIRST APPEARANCE
DG	O	09:45 AM	ROJAS/MARTINEZ	HC-14-697	BIGELOW 1722	09-Dec-14	FIRST APPEARANCE
DG	NO	09:45 AM	VINOVICH ROBERT/DEANNA	HC-14-689	BIGELOW 1817	09-Dec-14	FIRST APPEARANCE
DG	NO	09:45 AM	PINDELL ENTERPRISES	HC-14-695	KNOXVILLE 2610	09-Dec-14	FIRST APPEARANCE
DG	O	09:45 AM	OLSON RONALD	HC-14-692	LINN 1626	09-Dec-14	FIRST APPEARANCE
DG	O	09:45 AM	JACKSON SHIRLEY	HC-14-693	LINN 2139	09-Dec-14	FIRST APPEARANCE
DG	NO	09:45 AM	STRATEGIC VENTURE	HC-14-694	MACQUEEN 0712	09-Dec-14	FIRST APPEARANCE
DG	O	09:45 AM	BIDLEMAN TERRY	HC-14-696	NOWLAND 0903	09-Dec-14	FIRST APPEARANCE
DG	NO	09:45 AM	COHEN JEFF	HC-14-691	RICHMOND 0129	09-Dec-14	FIRST APPEARANCE
DM	C	09:00 AM	GOOD NEWS CHURCH	HC-14-454	SHERIDAN 1110	09-Dec-14	REVIEW
DM	C	09:00 AM	SOUTHSIDE TRUST & SAVINGS	HC-13-694	WASHINGTON 0915 SW	09-Dec-14	REVIEW
GW	NO	09:45 AM	T R MCDOWELL PROP	HC-14-688	HOWETT 2003	09-Dec-14	FIRST APPEARANCE
GW	NO	09:00 AM	WARR DEXTER	HC-14-710	MONROE 1519 NE	09-Dec-14	FIRST APPEARANCE
GW	NO	09:45 AM	ANDRADA WILMER	HC-14-566	MONTANA 2700	09-Dec-14	REHEARING/DEFAULT \$500
GW	NO	09:45 AM	WILLIS JUANITA	HC-14-261	SUMNER 0911	09-Dec-14	REVIEW
LA	NO	09:45 AM	PACKARD WILLIAM	HC-14-522	BROOKRIDGE 0505	09-Dec-14	TO POST
LA	NO	09:45 AM	TRAINA KATHY	HC-14-540	PICTURE RIDGE 8703	09-Dec-14	REVIEW
LA	O	09:00 AM	CUAHUIZO MARIA	HC-13-531	THRUSH 0413 E	09-Dec-14	REVIEW
LE	NO	09:00 AM	CONSOLIDATED PROPERTIES	HC-14-508	AYRES 1714	09-Dec-14	REVIEW
LE	O	09:00 AM	LIESSE WILLIAM	HC-14-544	BARKER 1520	09-Dec-14	REVIEW
LE	O	09:00 AM	ACTIS ARMANDO/MONICA	HC-14-412	BARKER 1818	09-Dec-14	REHEARING/DEFAULT \$2000
LE	NO	09:00 AM	WALGENBACH/LINDERMAN	HC-14-543	CALLENDER 1507	09-Dec-14	REVIEW
LE	O	09:00 AM	MARIANI BETTY (ESTATE)	HC-14-699	FARMINGTON 1009	09-Dec-14	FIRST APPEARANCE
LE	O	09:00 AM	MORGAN SCOTT	HC-14-603	FLORA 1224	09-Dec-14	REHEARING/DEFAULT \$900
LE	O	09:00 AM	LAMIE SHANNON	HC-14-700	FRINK 1215	09-Dec-14	FIRST APPEARANCE
LE	O	09:00 AM	STROUD-KENDRICK ANDRIA	HC-14-701	FRINK 1219	09-Dec-14	FIRST APPEARANCE
LE	NO	09:00 AM	BAUER RANDALL	HC-14-182	ORANGE 0915	09-Dec-14	REVIEW/DEFAULT PEND. \$1000
LE	NO	09:00 AM	SALEM BROS INVESTMENTS	HC-14-702	ORANGE 1107	09-Dec-14	FIRST APPEARANCE
LE	NO	09:00 AM	CARRANZA MARIA	HC-14-703	RUSSELL 0915	09-Dec-14	FIRST APPEARANCE
PM	NO	09:00 AM	MAJORS TIMOTHY	HC-14-611	ARCHER 0815 E	09-Dec-14	REVIEW
PM	O	09:00 AM	MAXWELL DAVID	HC-14-574	ATLANTIC 2202	09-Dec-14	REVIEW
PM	O	09:00 AM	ROARK ALLEN	HC-14-704	CENTRAL 2142	09-Dec-14	FIRST APPEARANCE
PM	NO	09:00 AM	SHORT DENNIS	HC-14-581	CENTRAL 2307	09-Dec-14	REHEARING/DEF PEND \$500
PM	O	09:00 AM	ZELLER ADAM	HC-14-465	CORRINGTON 1214 E	09-Dec-14	REVIEW
PM	NO	09:00 AM	LEAR ARACELI/GARY	HC-14-662	FRYE 0316 E	09-Dec-14	REVIEW
PM	NO	09:00 AM	VECCO GERALD	HC-14-613	FRYE 1009 E	09-Dec-14	REVIEW
PM	O	09:00 AM	ZANG JEFFREY	HC-14-502	FRYE 1110 E	09-Dec-14	REVIEW
PM	O	09:00 AM	MILLER G ANN	HC-14-460	GIFT 0600 E	09-Dec-14	REVIEW
PM	O	09:00 AM	BOLLMAN DALE/BARBARA	HC-14-552	GLEN OAK 1134 NE	09-Dec-14	REVIEW
PM	NO	09:00 AM	SANCHEZ, NICOLE	HC-14-706	GLENDALE 1501 NE	09-Dec-14	FIRST APPEARANCE
PM	NO	09:00 AM	PULLEY JOHN	HC-14-708	GLENDALE 1507 NE	09-Dec-14	FIRST APPEARANCE

PM	NO	09:00 AM	GRUSSING LAURA	HC-14-707	MARYLAND 2214	09-Dec-14	FIRST APPEARANCE
PM	O	09:00 AM	BRADSHAW KENNETH	HC-14-639	MARYLAND 2402	09-Dec-14	REVIEW
PM	NO	09:00 AM	ADEMI MAZLAM/TEFIK	HC-14-709	MAYWOOD 1221 E	09-Dec-14	FIRST APPEARANCE
PM	NO	09:00 AM	ANDRADA WILMER	HC-14-623	MCCLURE 1017 E	09-Dec-14	REVIEW
PM	NO	09:00 AM	HANSSEN FAMILY INVESTMENTS	HC-14-705	MCCLURE 1204 E	09-Dec-14	FIRST APPEARANCE
PM	NO	09:00 AM	MAJORS RICHARD/SHARON	HC-14-614	NEBRASKA 1002 E	09-Dec-14	REVIEW
PM	NO	09:00 AM	DOMNICK DAVID/MICHELLE	HC-14-511	NEBRASKA 1208 E	09-Dec-14	REVIEW
PM	NO	09:00 AM	STURDIVANT/McKINNEY	HC-13-648	TYNG 1023 #2	09-Dec-14	REVIEW/DEFAULT PEND \$500
Rob	C	09:00 AM	GOMEZ JOSE/ANGEL	HC-14-381	ADAMS 2104 SW	09-Dec-14	REVIEW
SCA	NO	09:00 AM	MADIGAN PATRICK/KELLY	HC-14-528	ANTOINETTE 2710	09-Dec-14	REVIEW
SCA	NO	09:00 AM	LEXINGTON HILLS APTS	HC-14-601	FALLEN OAK 3431/47	09-Dec-14	REVIEW
SCA	NO	09:00 AM	BORDEAUX ENTERPRISES	HC-14-600	KNOXVILLE 5250	09-Dec-14	REVIEW
SCA	NO	09:00 AM	JOHNSON GIL/MICHELLE	HC-14-315	ROANOKE 0108 NE	09-Dec-14	REVIEW/DEFAULT PEND \$1000
SCA	NO	09:00 AM	CHICAGO TITLE TRUST	HC-14-602	SUNBURST 3440-3453	09-Dec-14	REVIEW
SW	C	09:00 AM	M K LODG INC	HC-14-576	LAKE 2726 W	09-Dec-14	REHEARING/DEFAULT \$35000

NUMBER OF CODE CASES 70

PAID	LEGAL CASE NO	COURT DATE	DEFENDANT	PROPERTY ADDRESS	FINE AMOUNT	INSPECTOR	DISPOSITION
	14-CV-1641	12/9/2014	ALWAN, TERESA	1523 W BARKER AVE	\$50	LE	
	14-CV-1542	12/9/2014	ANDRADA, WILMER	1817 N CALIFORNIA AVE	\$50	LA	DISMISSED - RESPONDENT NOT THE OWNER
	14-CV-1631	12/9/2014	AVERY, STEPHEN	5509 N HAMILTON RD	\$50	PM	
	14-CV-1575	12/9/2014	BAKSAI, KARL	907 E BEHREND'S AVE	\$50	PM	
	14-CV-1640	12/9/2014	BAKSAI, KARL	907 E BEHREND'S AVE	\$100	PM	
X	14-CV-1567	12/9/2014	BANKS, MICHAEL	1608 W COLUMBIA TER	\$150	BB	DISMISSED - PAID ON 11/17/14
	14-CV-1616	12/9/2014	BLANKENSHIP, REBECCA	1016 E GIFT AVE	\$100	PM	
X	14-CV-1572	12/9/2014	BUCHHEIT, MARK	901 E KINSEY ST	\$100	PM	DISMISSED - PAID ON 12/1/14
	14-CV-1623	12/9/2014	BUSKIRK, BRITTNEY	2513 N MARYLAND ST	\$150	PM	
	14-CV-1585	12/9/2014	CALLAHAN, LEE	5128 N RENWOOD AVE	\$50	PM	
X	14-CV-1611	12/9/2014	CAREY, WAYNE	1313 E HILLCREST PL	\$150	PM	DISMISSED - PAID ON 11/25/14
X	14-CV-1586	12/9/2014	CAUSEY, TRACEY	2108 N UNDERHILL ST	\$50	DG	DISMISSED - PAID ON 12/1/14
	14-CV-1554	12/9/2014	COCHRAN, HARRY	1031 N ELMWOOD AVE	\$150	BB	
	14-CV-1615	12/9/2014	CONSOLIDATED PROPERTIES LLC	900 E VIRGINIA AVE	\$100	PM	
	14-CV-1562	12/9/2014	DAHLQUIST, CRAIG A.	1006 N MAPLEWOOD AVE	\$150	BB	DISMISSED - PER BRADY ON 11/4/14
	14-CV-1462	12/9/2014	DANZ, WARREN	5207 N KNOXVILLE AVE	\$150	BB	1ST APPEARANCE - 12/2/14; REVIEW - 12/9/14
	14-CV-1642	12/9/2014	DANZ, WARREN	1718 W BRADLEY AVE	\$50	LE	
X	14-CV-1563	12/9/2014	DAVIES, TIMOTHY	1017 N ELMWOOD AVE	\$150	BB	DISMISSED - PAID ON 11/25/14
X	14-CV-1564	12/9/2014	DAVIES, TIMOTHY	1303 W PARKSIDE DR	\$150	BB	DISMISSED - PAID ON 11/25/14
	14-CV-1549	12/9/2014	DAVIS, CHARLES	1119 N ELLIS ST	\$50	LE	
	14-CV-1627	12/9/2014	DAVIS, STERLING	310 E FRYE AVE	\$50	LA	
	14-CV-1626	12/9/2014	DAVIS, TODD	2415 N PROSPECT RD	\$100	PM	
	14-CV-1628	12/9/2014	DAVIS, TODD	2415 N PROSPECT RD	\$100	PM	
	14-CV-1569	12/9/2014	DIES, TERRI	1211 N ELLIS ST	\$100	LE	
X	14-CV-1544	12/9/2014	DINH, KHANH	722 E KANSAS ST	\$50	LA	DISMISSED - PAID ON 11/13/14
	14-CV-1570	12/9/2014	EDWARDS, ROBIN	1201 N MAPLEWOOD AVE	\$50	LE	
	14-CV-1560	12/9/2014	ELIAS, STEVE	1011 N GLENWOOD AVE	\$150	BB	
	14-CV-1566	12/9/2014	FEROLO, JAMES	1652 W PARKSIDE DR	\$150	BB	DISMISSED - PER BRADY ON 11/4/14
X	14-CV-1618	12/9/2014	FOTI, GREGORY M.	916 N REBECCA PL	\$50	LE	DISMISSED - PAID ON 11/19/14
	14-CV-1548	12/9/2014	G & P DEVELOPMENT, INC.	1113 N ELLIS ST	\$50	LE	
	14-CV-1643	12/9/2014	GARCIA, ANISETO	719 E LASALLE ST	\$50	LA	
	14-CV-1581	12/9/2014	GINDER, JOHN	1012 E FRYE AVE	\$50	PM	
	14-CV-1568	12/9/2014	GOITEIN, PATRICIA	1621 W COLUMBIA TER	\$150	BB	DISMISSED - PER BRADY ON 11/5/14
	14-CV-1619	12/9/2014	GONZALES, CHRISTINA	836 N REBECCA PL	\$50	LE	
	14-CV-1565	12/9/2014	GRIEVES, MELODY	1319 W COLUMBIA TER	\$150	BB	DISMISSED - UNABLE TO GET NOTICE SERVED
	14-CV-1558	12/9/2014	GUBRICKY, SEAN M	1014 N INSTITUTE PL	\$150	BB	DISMISSED - PER BRADY ON 11/3/14
	14-CV-1539	12/9/2014	GUERRERO, SANDRA	717 E KANSAS ST	\$50	LA	
	14-CV-1574	12/9/2014	HARRIS, KENNETH	1008 E VIRGINIA AVE	\$50	PM	
	14-CV-1625	12/9/2014	HARRIS, KENNETH	1008 E VIRGINIA AVE	\$100	PM	
	14-CV-1614	12/9/2014	HERRERRA, RUBEN	2508 N WISCONSIN AVE	\$50	PM	
X	14-CV-1546	12/9/2014	HOWARD, MARGARET	1212 N FRINK ST	\$50	LE	DISMISSED - PAID ON 10/31/14

X	14-CV-1582	12/9/2014	HYLAND, CYNTHIA	606 E ILLINOIS AVE	\$50	LA	DISMISSED - PAID ON 11/19/14
X	14-CV-1624	12/9/2014	JUBILEE MINISTRIES, INC.	2512 N MARYLAND ST	\$50	PM	DISMISSED - PAID ON 11/20/14
X	14-CV-1559	12/9/2014	LAWRENCE, STEPHEN M	1204 N INSTITUTE PL	\$150	BB	DISMISSED - PAID ON 11/4/14
	14-CV-1583	12/9/2014	LIVEWELL INVESTMENTS LLC	1810 N NEW YORK AVE	\$50	LA	
	14-CV-1629	12/9/2014	LOR, LORXENG S	1012 E VIRGINIA AVE	\$100	PM	DISMISSED - UNABLE TO GET NOTICE SERVED
	14-CV-1636	12/9/2014	LRU PROPERTIES INC	1224 E VIRGINIA AVE	\$50	PM	
	14-CV-1617	12/9/2014	LYTLE, JILL	1102 E GIFT AVE	\$50	PM	
X	14-CV-1632	12/9/2014	MCKINNEY, DALTON	810 E NEBRASKA AVE	\$50	PM	DISMISSED - PAID ON 11/20/14
	14-CV-1634	12/9/2014	MINGUS, ALBERT	804 E NEBRASKA AVE	\$50	PM	
	14-CV-1620	12/9/2014	MSM PROPERTY MANAGEMENT LLC SE	911 N COOPER ST	\$50	LE	
	14-CV-1635	12/9/2014	MUNOZ, CARLOS	1228 E VIRGINIA AVE	\$50	PM	
	14-CV-1621	12/9/2014	NEFF, MICHAEL	516 VINE ST	\$50	PM	
	14-CV-1633	12/9/2014	PARKS, OLIVIER	806 E NEBRASKA AVE	\$50	PM	
	14-CV-1543	12/9/2014	PEMBER, JOE	1911 N MISSOURI AVE	\$50	LA	
	14-CV-1653	12/9/2014	POPP, SHANNON	1722 W FREDONIA AVE	\$50	LE	
X	14-CV-1610	12/9/2014	QUINTERO, EFRAIN	2138 N MARYLAND ST	\$50	PM	DISMISSED - PAID ON 11/18/14
X	14-CV-1612	12/9/2014	RAYBURN, JULIA	1200 E KANSAS ST	\$50	PM	DISMISSED - PAID ON 11/17/14
	14-CV-1573	12/9/2014	REPKE, MICAH	1006 E VIRGINIA AVE	\$50	PM	
	14-CV-1556	12/9/2014	ROECKER, JAMES	1314/1316 N ELMWOOD AVE	\$150	BB	DISMISSED - PER BRADY ON 11/3/14
	14-CV-1557	12/9/2014	SCHMILLEN, LEONARD J	1004 N INSTITUTE PL	\$150	BB	
X	14-CV-1561	12/9/2014	SMITH II, MILTON	1100 N GLENWOOD AVE	\$150	BB	DISMISSED - PAID ON 11/17/14
	14-CV-1630	12/9/2014	SMITH, GREGORY	1109 NE GLENDALE AVE	\$100	PM	
X	14-CV-1644	12/9/2014	SMITH, JEFFREY	614 W SHERIDAN CT	\$100	PM	DISMISSED - PAID ON 11/26/14
X	14-CV-1613	12/9/2014	STAUB, THOMAS	801 E MCCLURE AVE	\$50	PM	DISMISSED - PAID ON 11/25/14
	14-CV-1547	12/9/2014	TACKMAN, BRIDGET	1304 N NORTH ST	\$50	LE	
	14-CV-1555	12/9/2014	THOMAS, JOANNE	1312 N ELMWOOD AVE	\$150	BB	
	14-CV-1550	12/9/2014	TILLMAN, STEPHANIE	1218 N ELLIS ST	\$50	LE	
	14-CV-1645	12/9/2014	WEST, SUSAN	6022 N HAMILTON RD	\$50	PM	DISMISSED - PER PATTI ON 11/21/14
X	14-CV-1638	12/9/2014	WILLIAMS, BONNIE	2127 N DELAWARE ST	\$50	PM	DISMISSED - PAID ON 11/18/14